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5 . FRFE 7 . RE7R B XU 79 : PHE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 4S = -420 x 4S -1 50 10
2 it 1t 3NT = 600 1t INT +1 120 10
3 panyiie] [ri] 2C -1 100 [ri] 2NT +2 -180 7
4 E=] x 3NT +1 -630 [£3] 3S -2 -200 10
5 @ikl & | 2o | +1 | 10 | 46 | 3c | +1 | 130 1
6 panyiic] 1t 5D = 400 1t 3NT +1 430 1
7 PWE=] [£3] 58S = 650 [£3] 4S +1 650
8 TS [£3] INT +1 120 [£3] INT -1 -50
9 panyiic] [£3] 2D = 90 [£3] 2NT -1 -50 4
10 | \WHB 1t 1H -1 -100 [ri] INT = -90
11 | X [£3] 3H +2 200 [£3] 4H = 420 6
12 |Edkl & | eNT | -1 | 50 /A | anT | +1 | 460 | 11
13 | WH/ x 4S +1 -650 x 58S = -650
14 | W x 5Sx -3 500 [£3] 5Cx -1 -100 12
DATUM%Ztit g
~FFHE) B r: 5 ] 49 | 28
BERIEIR/PFREE! 8 FEE/XUFA -16 ait 49 | 28
WRITRIAB A% 16 eV EST v/ -8 V.P. 15.46 | 4.54
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl & | 3cx | = | 470l & | 3cx | = | 470
2 it 1t 3NT -1 -100 1t INT +1 120 6
3 ,?ﬁ [ri] 3NT +1 -630 [ri] 3D = -110 11
4 PE=] x ANT = -630 1t 4HX +2 1190 18
5 |gdt] & | anT | +2 | 660 | B | 20 | +2 | 120 | 12
6 panyiic] 1t 3NT = 400 [£3] 4S +1 450 2
7 PWE=] [£3] 4S +1 650 [£3] 6SXx -1 -200 13
8 TS [£3] 2D = 90 x 2S = -110 5
9 panyiie] [£3] 3H -1 -50 [ri] INT -4 400 10
10 | \WHB [ri] 2S -1 100 [ri] 3NT 100
11 | X [£3] 4H = 420 [£3] 4H +1 450 1
12 | Edb x 6NTXx -1 100 x 3NT +2 -460 11
13 | WH/ x 4S +1 -650 x 4S +1 -650
14 | W [£3] 5Cx -1 -100 [£3] 5C = 400 11
DATUMiT T
I~ MiskEh RASIBX Y. X+ 40 | 59
oK B /T 3E O AEKR/ERE 27 &it 40 59
ERE/KAE 27 BRI/ {550 O V.P. 4.94 | 15.06
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 4S -1 50 x 4S 1 50
2 it [ri] 2H -1 50 1t 3NT -1 -100 4
3 ,?ﬁ 1t INT -2 -100 1t INT 3 -150 2
4 E=] 1t 4HX +2 1190 [ri] 5D = -600 18
5 @bl & | anT | 2 | 200 & | anT | +2 | 660 13
6 ,?ﬁ 1t 3NT +1 430 1t 5D = 400 1
7 PE=] [£3] 4S +1 650 [£3] 4S +1 650
8 TS [£3] 2D = 90 [£3] 3D -1 -50 4
9 panyiie] x INTX -3 800 1t 2D = 90 12
10 | WHB x 2S -1 100 [ri] 2NT -1 100
11 | W x 4C -2 100 [£3] 1S +3 170 2
12 | Edb x 3NT +3 -490 [ri] O6NT -1 50 11
13 | WH/ x 4S +1 -650 x 6S -1 100 13
14 | WF x 3S +2 -200 [ri] INT -3 150 8
DATUM%it g
I MLTHR [izEPA Y. X+ a1 | 47
S&RIL/MEME 11 DIRIE/IZR B 18 ait 41 | 47
BXfE/AKI e -18 ZARB/E X F -11 V.P. 8.13 | 11.87
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 5H -3 150 x 4S +1 -450 12
2 it 1t INT +1 120 [ri] 2H -1 50 2
3 |FAL A 3D +1 | -130 7a 3D +1 | -130
4 |wal @@ | sbx | = | -7so0] 7/ | sbx | -1 | 200 14
5 [mdtl 4t | 3c | +1 | 130 | 46 | 3c | +2 | 150 1
6 panyiic] [£3] 4S +2 480 1t 3NT +2 460 1
7 PE=] [£3] 4S +1 650 [£3] 4S = 620 1
8 TS [£3] 2D = 90 [£3] 3D -1 -50 4
9 panyiie] 1t 2HX -1 -100 1t 2D = 90
10 | WHB x INT -2 200 1t I1HX +1 360 4
11 | W [£3] 4H +1 450 [£3] 3H +2 200 6
12 | Edb x 3NT +2 -460 x 3NT +3 -490 1
13 | W/ x 4S +1 -650 x 3NT +3 -690 1
14 | W [£3] 5D = 400 [£3] 4C = 130 7
DATUM%tit g
ARERR B RETBX r: 5 ] 35 | 24
SRAE/ SR 5 BE/ EEE -5 ait 35 | 24
AT/ BEE 5 EIREIBRN -5 V.P. 13.23 | 6.77
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3S = -140 [ri] 4S -1 50 5
2 it [ri] 2H -1 50 [£3] INT +2 150 3
3 panyiie] [ri] 2NT +2 -180 x 3NT +1 -630 10
4 E=] [ri] 5D = -600 [£3] 5Hx = 850 16
5 [mtl 46 | 3c | +1 | 130 | & | 3c | +2 | 180 1
6 panyiie] [£3] 4S -1 -50 [£3] 5D = 400 10
7 PE=] 1t 3NT +3 690 [£3] 4S = 620 2
8 TS [£3] 3D -1 -50 [ri] 2H -2 100 4
9 panyiic] [£3] 3NT = 400 [£3] 2NT -1 -50 10
10 | \WHB 1t 3H -2 -200 [ri] 2S -2 200 9
11 | W [£3] 4H +1 450 [£3] 4HX +1 690 6
12 | Edb x 3NT +3 -490 [ri] 6NT = -990 11
13 | WH/ x 4S +1 -650 [ri] 4S +1 -650
14 | W [£3] 5Cx -1 -100 x 2S +1 -140 1
DATUM%Ztit g
['&RER Fal %) r: 5 ] 34 | 54
IRRIF /175 -32 MSEE/XIKE -2 ait 34 | 54
SRR R/ R 2 wmE/ A& 32 V.P. 4.74 | 15.26




201 6SFRRIEINZE

%2 % %6 % 2016412H3H
12 IS VS 2 KIEISPA
H= A=
MNNEZT RIETERA RIETERA MNNEZT
it . xR IR MR 1t : XUBF IR : EBEEIE
R e A RAE GRS SNES 79 : XU/\R
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 5Cx -3 -500 x 4S -1 50 11
> @l & | 30 | 2 | 200 | 4t | anT | 1 | 120 8
3 panyiie] [ri] 4H +1 -650 1t INT +2 150 13
4 PE=] x 3NT +1 -630 [ri] 5Dx = -750 3
5 |gtl @ | 2o | +2| 30| & | 20 | +1 | 120 | 1
6 panyiie] [£3] 4S +2 480 1t 3NT = 400 2
7 PE=] [£3] 4S +1 650 [£3] 4S +1 650
8 TS [£3] 2D = 90 x 2S -1 50 1
9 panyiic] x INT -1 100 [£3] 2H = 110
10 | \WHB 1t 1H -1 -100 1t INT -1 -100
11 | W [£3] 4H +1 450 [£3] 1S +3 170 7
12 | Edb [ri] 6NT = -990 x TNT -1 50 14
13 | W/ x 6C -1 100 x 4S +1 -650 13
14 | W x 3S +2 -200 [£3] 4C = 130 8
DATUM%tit iFE
HNWE 2T AIEIERA y. S+ ] 27 | 54
FE/EIRkEE -43 XUBT/RI5R O Aait 27 | 54
EBREIE/XU/NFR O ISR/ RIS 43 V.P. 3.45 | 16.55




